
LUND UNIVERSITY

PO Box 117
221 00 Lund
+46 46-222 00 00

Magnetic losses in composite materials

Ramprecht, Jörgen; Sjöberg, Daniel

2008

Link to publication

Citation for published version (APA):
Ramprecht, J., & Sjöberg, D. (2008). Magnetic losses in composite materials. (Technical Report
LUTEDX/(TEAT-7169)/1-28/(2008); Vol. TEAT-7169). [Publisher information missing].

Total number of authors:
2

General rights
Unless other specific re-use rights are stated the following general rights apply:
Copyright and moral rights for the publications made accessible in the public portal are retained by the authors
and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the
legal requirements associated with these rights.
 • Users may download and print one copy of any publication from the public portal for the purpose of private study
or research.
 • You may not further distribute the material or use it for any profit-making activity or commercial gain
 • You may freely distribute the URL identifying the publication in the public portal

Read more about Creative commons licenses: https://creativecommons.org/licenses/
Take down policy
If you believe that this document breaches copyright please contact us providing details, and we will remove
access to the work immediately and investigate your claim.

https://portal.research.lu.se/en/publications/028bbaf8-5b30-4566-8e8c-4c8d817f2223


Electromagnetic Theory
Department of Electrical and Information Technology
Lund University
Sweden 

CODEN:LUTEDX/(TEAT-7169)/1-28/(2008)

Magnetic losses in composite
materials

Jörgen Ramprecht and Daniel Sjöberg
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n̂ · ∇m0 = 0 �� ∂Ω

|m0| = 1

;7�8<
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���
� N

�
�������

⎛
⎝1/3 0 0

0 1/3 0
0 0 1/3

⎞
⎠

F������� ��� ��

⎛
⎝1/2 0 0

0 1/2 0
0 0 0

⎞
⎠

"��
�

⎛
⎝0 0 0

0 0 0
0 0 1

⎞
⎠

�	��� �, ��B����
  �	����
�2�
��� 
������ ���  �B����
 ���
���

����� n̂  ���
�� 
�� ��
��� ���
 ���	�� �� Ω� ��� !��� ��� ��� �
��� ��  �� 
�

�� ���������� �� 
�� �%������ 
��	 �� 
�� �B��
��� 	����
�� 1�� / Hex = λex∇2M �
��� ��������� 	����
�� 1�� H0 	��
 ��
���� 0�%����E� �
�
�� �>��
���� ��� � 	��(
��
�2� !� � 3C/ 
� ))4⎧⎪⎨

⎪⎩
∇ · H0 = −MS∇ · m0 �� Ω

∇ · H0 = 0 ��
�� � Ω

∇× H0 = 0 ����������

;7�A<

��
� 
�� !��� ��� ��� �
���� �� ∂Ω{
n̂ · [H0] = MSn̂ · m0

n̂ × [H0] = 0
;7�C<

����� [H0]  ���
�� 
�� ��	
 �� H0 ������ 
�� !��� ��� ∂Ω� ��� �>��
���� ;7�8<
�� ;7�A< ���
�� 
������ m0 �� 
�� �B��
��� 1�� 

Heff,0 = H0 − MSNcm0 + λexMS∇2m0 ;7�'<

����� �� ���
 
�� 	����
�����
�� ���
��!�
��� Hme,0� ��� ��	!��� �>��
���� ���
��������� ��  �H���
 
� ����� ���� ��	��������I 
��� �� 
�� 1�� �� ��	
�
�
�����
	����	����
��� 3'4� �� �������/ 
�� �����
��� 	����
�2�
���  ����
��� m0 ���� ����
��
��� 
�� 	����
�� 
��
�����

�����1���
 ��	
��1��
���� ��� 
����!�� ��� 
�� �
����� ���� �� � �
����� �� 
��
����
�		���� �� � ��	�������� �%
����� 1�� He

0� 9�� 
��� 
��
������ ���	�
��/ 
��

��
���� �� ������	�� 	����
�2� / �� 
�� 
�
�� ��������� 1�� ��
��� 
�� 
��
���� ���
!� ����� 
� !�

H0 = He
0 − MSNdm0 ;7�?<

����� Nd �� 
��  �	����
�2�
��� 
����� ��� 
�� 
��
����� : 
�!�� ��  �	����
�2�
���

������ ���  �B����
 �%
��	�� �� �
����� �� 
��
����� �� ���� �� ��!�� )�



A

����� 
�� 
��
���� �� ������	�� 	����
�2� / 
�� �%������ 
��	  ��
� ��
/ �� 

�� �B��
��� 1�� ��

Heff,0 = He
0 − MS(Nd + Nc)m0 = He

0 − MSNm0 ;7�&*<

$����E� �>��
���� ;7�8< ��>���� 
��
 
�� �B��
��� 1�� �� 
������� 
� m0/ 
��
 ��/
Heff,0 = βMSm0 ��� ��	� ����
��
 β/ ����� �	
����

He
0/MS − Nm0 = βm0 ⇒ m0 = (βI + N)−1He

0/MS ;7�&&<

��� ����
��
 β �� 
���  �
��	��� ���	 
�� ���	���2�
��� ��>����	��
 |m0| = 1�
����/ 
�� J����
��
K β �� ������ � ����
��� �� He

0/ �� ���� �� MS �� N� ��
������/ �

�� �� ���
 �� �� ;�� �� �� �� |He

0|/MS ��� �
���� !���</ �� 
���
��� ��
� 
��  ����
���
�� m0 �
 �� 
�� 
��	��� 
���	�
�� 
��
 ��� !� ���
����� !� �� �%
����� 1�� �

�� 
�� �
����� ���� �� 
�� �
������� 
��
����/ ����� N = I/3/ �� ��� ����� ;7�&&<
�%
����
�� ��� β = ±|He

0|/MS − 1/3� �� �� �� 
� ������ 
�� ������
 ���� �� 
���
����
���/ �� �
� � 
�� 
�
�� ���� ������/ ����/ 
�� ��	 �� 
�� �����
��
� ������ Uan

�� 
�� 	����
��
�
�� ������ �� 
�� 
��
���� 3)*/ 
� &8C4

Ftot =

∫ (
Uan − μ0

2
M 0 · (H0 + He

0)
)

dV =
μ0

2

∫
M 0 · (NcM 0 − H0 − He

0) dV

= −μ0

2

∫
M 0 · (Heff,0 + He

0) dV ;7�&)<

����� ����� !� 	���	�� ��� 
�� ������
 β� ����  ����� � 
�� 	���� ����/ �� 
��������
� �� ��� 
�� ����
��� β = |He

0|/MS − 1/3�
�� � ��	
���
� 	�
����� �� �� 9����� &/ 
�� J!���K 1�� He

0 �
 ��� 
��
���� 	�� ����
!� ������
� !� 
�� �����!����� 
��
������ �� �� / ����	��� 
��
 ��� 
��
����� ����

�� ��	� 	����
�2�
��� M 0/ 
�� �B��
��� 	����
�2�
��� �� 
�� ��	
���
� 	� ��	
�� M ′

0 = f1M 0/ ����� f1 �� 
�� ����	� ����
��� �� 
�� 	����
�� 
��
������ ��� 1�� 
���	 
�� �����!����� 
��
����� ��� 
��� !� ��
�	�
� !� 3&)/ 
� &A)4

He
0 = He

0
′ +

1

3
M ′

0 = He
0
′ +

f1

3
M 0 ;7�&7<

����� He
0
′ �� 
�� �%
����� 1�� �

��� 
� 
�� ��	
���
� 	�
������ �����
��� 
��� ��


�� �%
������� ��� β/ �� 1� 

β =
|He

0|
MS

− 1

3
=

|He
0
′|

MS
− 1 − f1

3
=

|He
0
′|

MS
− f2

3
;7�&6<

����� f2 = 1−f1 �� 
�� ����	� ����
��� �� 
�� 	� ��	 ��!�
���� 
�� 
��
������ ����
 �	���
��
�� 
��
 �� 
�� ����	� ����
��� �� 
�� !�������� 	�
����� f2 → 0/ ����/

�� ��	
���
� 	�
����� ������
� ���� �� 	����
�� 	�
�����/ 
�� !��� 
���	�
�� β ��

��
��
����� 
� 
�� 1�� He

0
′� ���� 1�� 	�� �� �
� 
��� ������
 �� �  �	����
�2���

1�� ���	  �����
����
��� �� 
�� ��	
���
� 	� ��	/ !�
 �� �
� � ���� �� ��1��
�
	� ��	 �����



C

��� ����� ��
�� ���
����

@� ��	�� ��������� 
��
 
�� �>��
��� ��� 
�� 1��
 �� �� >���
�
� M 1 ��

−iωM 1 = −γμ0MS[M 1 × Heff,0/MS + m0 × Heff,1] − iωαm0 × M 1 ;7�&8<

��
�� ����� ωS = γμ0MS �� ����� Heff,0/MS = βm0/ 
��� ��� !� ���

��

iωM1 = ωS[M 1 × βm0 + m0 × Heff,1] + iωαm0 × M 1 ;7�&A<

��� �B��
��� 1�� ��

Heff,1 = H1 −NcM 1 + λex∇2M 1 ;7�&C<

����� H1 �� 
�� ��������� 	����
�� 1�� �

������ �� 0�%����E� �>��
����� �� 
��
���������/ �� ������ 
�� �%������ 1�� / !�
 ��
��� 
� �
� �B��
� �� ���
��� 8� ���
�	��� ������ �����

�!���
� �� 
�� ����
��� !�
���� 
�� �	��� ������ 1�� H1 �� 
��
�	��� ������ 	����
�2�
��� M 1� �� 1� 
���/ �� �����
� ;7�&8< ��

[iω + m0 × ((ωSβ − iαω)I + ωSNc)]M 1 = ωSm0 × H1 ;7�&'<

9��	 
�� �
���
��� �� 
��� �>��
��� �
 �� ���� 
��
 m0 · M 1 = 0/ ����� 	���� ��
���� ��� 
� ����� �� ��	
����
� ��
������� 
� m0� ��� �>��
��� �� 
��� � 2 × 2
���
�	 �� ������ �>��
����/ ����� ��� !� ����� �%
����
�� ��
�� ��	� ����!��� ���
�����
 �� 
��
 
�� �	��� ������ �����

�!���
�/  �1�� !� M 1 = χH1/ ��(

χ11 χ12

χ21 χ22

)
=

1

D

(
β + Nc,22 − iαω/ωS −iω/ωS − Nc,12

iω/ωS − Nc,12 β + Nc,11 − iαω/ωS

)
;7�&?<

����� �� ��� 
��
 
�� 
����� Nc �� ��		�
���/ ����/ Nc,12 = Nc,21/ �� 
��  ���	(
���
�� ��

D = −(ω/ωS)
2 − N2

c,12 + (β + Nc,22 − iαω/ωS)(β + Nc,11 − iαω/ωS) ;7�)*<

@��� �����
��
� ��� !� ������ / 
�� �����

�!���
� ��	
��1�� 
�(
χ11 χ12

χ21 χ22

)
=

1

−(ω/ωS)2 + (β − iαω/ωS)2

(
β − iαω/ωS −iω/ωS

iω/ωS β − iαω/ωS

)
;7�)&<

9��	 
��� ���	 ;
�	
������� �������� ������/ ����/ α = 0< �� ���� ������ � 
��


�� ��������� ���>����� �� 
�� �����

�!���
� �� ����� !� 
�� �%
������� ωres/ωS =

±
√

(β + Nc,22)(β + Nc,22) − N2
c,12� =������/ 
�� ��������� ���>����� ����� !� ��(

��
� 
� 
�� �

��
���
� ��
�
 ������ ;
�� ������ 
� ����� 
�� 	�
����� ���
�� � 
�<�
9�� 
�� ���� �� � ������ �
������� 
��
���� 
�� �������
 ��
�
 ������ �� 
�� �%
�����
�

��� 1�� He

1/ ����� �� 
�� 1�� �� ���
���� @� ����� 
��� ���� �
 
�� 
�����2(
�!���
� γm/ ����� �� 
�� ����
��� !�
���� 
�� 
�
�� 	����
��  �
��� 	�	��
/ V M 1

����� V �� 
�� ����	� �� 
�� 
��
����/ �� 
�� �%
����� 1�� He
1/ ����/ V M 1 = γmHe

1�
����� ��� �	��� �
����� �� 
��
����� H1 = He

1 − NdM 1/ � ����
 �������
��� �����

��
 
�� 
����� γm �� ����� !� ;7�&?< ��
�� �  ��� 
�� ��	
����
� �� Nd 
� 
��



'

��	
����
� �� Nc/ ����/ ��!�
�
�
� Nc → Nc + Nd� :���	��� �� �����
��
� �� �
�
������� 
��
����/ 
��� �� Nc +Nd = I/3/ �� 
�� ��������� ���>����� �� γm �� 
���

ωres

ωS

= β +
1

3
=

|He
0|

MS

;7�))<

���� ����� 
��
 
�� ��������� ���>����� �� � �
������� 
��
���� ��� !� ���
����� 
!� �� �%
����� !��� 1�� He

0� ��� ������� ��� �
��� ��� 
�� ��������� ���>����� ��
�� ��!�
���� �
����� �� 
��
���� �� ����� �� .�

��E� �>��
��� 3&84/ �� �� �!
���� 
!� ��

��� 
�� ����
 ��� �� � �� ;7�)*< �>��� 
� 2��� ��
�� 	����� 
�� ��!�
�
�
���
Nc → Nc + Nd� �
 ����� !� ��	�	!��� 
��
 �� ��	
���
� 	� ��/ 
�� �%
�����
1�� He

0 	�� ���� � ����� ���
��!�
��� ���	 
�� �����!����� 	����
�� 
��
�����
����� ��� 
� 
��  ��������� ��� ��� 
� ;7�&6<�

��� �������� ������

��� ������ ��� ������
� 
� 
�� ��
�(���	�
��� 
��
 �� 
�� �����

�!���
� 
������ :�
��
��	� ����!��/ 
��� �� ���� 
� !�

χ − χ†

2
=

iαω/ωS

D′

·
(

(1 + α2)(ω/ωS)
2 + N2

c,12 + (β + Nc,22)
2 −(iω + Nc,12)(2β + Nc,11 + Nc,22)

(iω − Nc,12)(2β + Nc,11 + Nc,22) (1 + α2)(ω/ωS)
2 + N2

c,12 + (β + Nc,11)
2

)
;7�)7<

�����

D′ =
[
(β + Nc,11)(β + Nc,22) − (1 + α2)(ω/ωS)

2 − N2
c,12

]2

+ [(2β + Nc,11 + Nc,22)αω/ωS]
2 ;7�)6<

: ��
���� >���
�
� ���  ��������� ������ �� 
�� 	����
�� ��� ��
���
�/ ����� ��  �1�� 
�� 374 �� σm = −iωμ0(χ − χ†)/2� :�
����� 
��� ��� ���
 [σm] = Ω/m ���
�� ��
S/m �� �� 
�� ����
��� ����/ �� ���
 
�� ��
�
��� ���	 374� 9�� ��	
����
� �� ����
���� 
�� �
����� ���� Nc = 0 ����/

σm = −iωμ0
χ − χ†

2
=

αμ0ωS(ω/ωS)
2

(β2 − (1 + α2)(ω/ωS)2)2 + 4α2(ω/ωS)2β2

·
(

(1 + α2)(ω/ωS)
2 + β2 −2iβω/ωS

2iβω/ωS (1 + α2)(ω/ωS)
2 + β2

)
;7�)8<

�
 �� ���� 
��
 ��� 
�� �
����� ���� �� β = 0/ 
��� �� �� �
�� ��
 �� ���>�����,

σm
β=0
= μ0ωS

α

1 + α2
I ;7�)A<

9��	 ��!�� & �� ��� 
��
 
�
���� ��
������ 
��������� ���>������� fS ��� �� 
�� �� ��
&*DA*GHz/ �� �� ��� �%
��
 α ≈ 0.1� L���� fS = 30 GHz/ 
�� 
�
���� ��2� �� 
��
	����
�� ��� ��
���
� �� 
���

σm = μ0ωS
α

1 + α2
≈ 4π · 10−7 · 2π · 30 · 109 · 0.1 Ω/m = 2.4 · 104 Ω/m ;7�)C<



?

�� 3)C4/ �
 �� ����� 
��
 � ����
 ��
� 	����
�� 	�
����� ��� !� 	� ��� ��
� �
������ �����
���� �� σmd/ ����� d �� 
�� 
�������� �� 
�� ����
/ �� � 
����	������ ����
	� �� �� 
���� ���� 
��
���
���� : 
�����
 	�
�� 
� ���� �
��� �� 
��� �!
���� ��

��� �����
���� �>���� 
�� ���� �	
� ���� �� �����	/ η0/ ����� ��>����� 
�� 
�
����

�������� d = η0/σm = 377/(2.4 · 104) m = 1.6 cm� ���� ���� !� 
�� 
�
����

�������� ��>���� ��� � ����
 ��� �� � 	����
�� �!���!�� 3)84�

� ���� 	�������

�� ���/ �� ���� ��
  ������� 
�� 
����!���
� �� 
�� 
�	� ������� �%
����� 1�� 
�
�� ��� ������
� �� 
�� 
��
����� ��� 
� 
�� �������
� 
��
��
� ��� 
�� �	��� ������
��������/ 
��� ��� !� ����� ��� �� �  �
��� 
� 
�� 
������� �������
����� @� 1��

���� 
�� ������� �>��
���� �� 
�� >����(�
�
�� ��	�
/ �� 
��� 
�� ��������� �

��%�(
	�
���� 
� ��
 �� ��
�	�
� �� 
�� �B��
��

��� >����(�
�
�� �>��
���� ��� 
�� �����
 ���	 �������� 
��  ��
����	��
 ������

−iωD �� 0�%����E� �>��
����/

∇× E1 = iωB1 = iωμ0(I + χ)H1 ;6�&<

∇× H1 = −iωD1 + J1 ≈ σE1 ;6�)<

����� �� ��� 
�� �� �% & 
� �� ���
� �	��� ������ >���
�
��� �� �� 
�� 
������� ���
����
������ 
�� ���� �� 
�� ���
 �>��
��� �	
����

∇× (∇× H1) = iωσμ0(I + χ)H1 ;6�7<

����/ �� ���� �  �B����� �>��
��� ��� 
�� 	����
�� 1�� �
9��	 
��� �>��
��� �
 �� ���� 
��
 
�� 
�
���� ����
� ����� �� ����� !� 
�� ����

 �

�/ δs =
√

2/(ωσμ0)� 9����	����
�� 	�
������ ���� ���� ��
�� ���� � ���� ���(
 ��
���
�/ �� 
�� �� �� �� 107 S/m� ��� ����  �

� �
 &*GHz �� 
���

δs =

√
2

ωσμ0
≈ 1.6 μm ;6�6<

���� �� ��
 
�� ��� ���	 
�� 
�
���� ��2� �� 
�� 
��
����/ 100 nm �� ����� �� 
��
�����

�!���
� χ �� ��
 
�� �����/ 
�� 
��
���� ��2� �� ������� ��� �� �� �� 	����
� �
���� 
��� 
�� ����  �

�� ����  ��� ��
 ��
�	�
������ 	��� 
��
 
�� �� ��� 1�� 
�� �	���/ !�
 �
 ����
 	�
���
�� �������� 
�� ���� �B��
 ����  ���� ��� �������
�����

: ����
 �������
��� �� :

�� �% : ����� 
��
 �� 
�� 	����
�� 1�� �� ����
��


��������
 � �
������� 
��
���� �� �� ��� R/ 
�� �� ��� 	����
�2�
���  �� 
� �  �
������
� ��

m = iωσR52π

15
B ;6�8<

G��	���2��� ��
� 
�� ����	� �� 
�� �
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=
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√
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∇× E = iωB ;:�&<
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E = E(rc)ϕ̂, rc =
√

x2 + y2 ;:�)<
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2πrcE(rc) = iωBπ(rc)
2 ⇒ E(rc) =

iωB

2
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m =
1

2

∫
V

x × J(x) dV ;:�6<
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m =
1

2

∫ R

r=0

∫ π

θ=0

∫ 2π

ϕ=0

rr̂ × iωσB

2
r sin θ︸ ︷︷ ︸

=rc

ϕ̂r2 sin θ dr dθ dϕ

= − iωσB

4

∫ R

r=0

∫ π

θ=0

∫ 2π

ϕ=0

r4 sin2 θθ̂ dr dθ dϕ ;:�8<

�����
∫ 2π

ϕ=0
θ̂ dϕ = −2π sin θẑ/ 
��� ��

m =
iωσBπ

2
ẑ

∫ R

r=0

r4 sin3 θ dr dθ = iωσBπẑ
R5

5

∫ π

θ=0

(1 − cos2 θ) sin θ dθ

= iωσBπẑ
R5

10

[
− cos θ +

cos3 θ

3

]π

θ=0

ẑ = iωσBπ
R5

10
(2 − 2

3
)ẑ

= iωσR52π

15
Bẑ ;:�A<
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H± = x̂ ± iŷ, Hz = ẑ ;$�6<
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μ± = μ ± μg = 1 +
β − iαω/ωS

−(ω/ωS)2 + (β − iαω/ωS)2
± ω/ωS

−(ω/ωS)2 + (β − iαω/ωS)2

= 1 +
β − iαω/ωS ± ω/ωS

(β − iαω/ωS + ω/ωS)(β − iαω/ωS − ω/ωS)

= 1 +
1

β − iαω/ωS ∓ ω/ωS

;$�8<
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ε1(ω) =

∑
m amωm∑
n bnωn

, b0 = 1 ;$�A<
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aeff
m = ε2

(1 + 2f1)am + 2ε2(1 − f1)bm

(1 − f1)a0 + ε2(2 + f1)
, m = 0, 1, 2, . . . ;$�C<

beff
0 = 1 ;$�'<

beff
m =

(1 − f1)an + ε2(2 + f1)bn

(1 − f1)a0 + ε2(2 + f1)
, n = 1, 2, 3, . . . ;$�?<
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μ± = 1+
1

β − iαω/ωS ∓ ω/ωS
=

β − iαω/ωS ∓ ω/ωS + 1

β − iαω/ωS ∓ ω/ωS
=

1+β
β

+ −iα∓1
βωS

ω

1 + −iα∓1
βωS

ω
;$�&*<
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a±
0 =

1 + β

β0

a±
1 =

−iα ∓ 1

βωS

;$�&&<

b±0 = 1 b±1 =
−iα ∓ 1

βωS
= a±

1 ;$�&)<
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μ±
eff =

aeff±
0 + aeff±

1 ω

1 + beff±
1 ω
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aeff±
0 = μ2

(1 + 2f1)(1 + 1/β) + 2μ2(1 − f1)

(1 − f1)(1 + 1/β) + μ2(2 + f1)
= aeff

0 ;$�&6<

aeff±
1 = μ2

(1 + 2f1) + 2μ2(1 − f1)

(1 − f1)(1 + 1/β) + μ2(2 + f1)

−iα ∓ 1

βωS
=

−iα ∓ 1

βωa
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beff±
1 =

(1 − f1) + μ2(2 + f1)

(1 − f1)(1 + 1/β) + μ2(2 + f1)

−iα ∓ 1

βωS

=
−iα ∓ 1

βωb
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ωa =
ωS

μ2

(1 − f1)(1 + 1/β) + μ2(2 + f1)

(1 + 2f1) + 2μ2(1 − f1)
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ωb = ωS
(1 − f1)(1 + 1/β) + μ2(2 + f1)

(1 − f1) + μ2(2 + f1)
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μ+
eff ± μ−

eff =
aeff

0 + −iα−1
βωa

ω

1 + −iα−1
βωb

ω
± aeff

0 + −iα+1
βωa

ω

1 + −iα+1
βωb

ω
=

aeff
0 + −iαω

βωa
− ω

βωa

1 + −iαω
βωb

− ω
βωb

± aeff
0 + −iαω

βωa
+ ω

βωa

1 + −iαω
βωb

+ ω
βωb
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a − b

c − d
± a + b

c + d
=

(a − b)(c + d) ± (a + b)(c − d)

(c − d)(c + d)

=
ac + ad − bc − bd ± (ac − ad + bc − bd)

c2 − d2
=

⎧⎪⎪⎨
⎪⎪⎩

2
ac − bd

c2 − d2

2
ad − bc

c2 − d2

;$�)*<

����� 	���� �� ����

μeff =
μ+

eff + μ−
eff

2
=

(aeff
0 − iαω

βωa
)(1 − iαω

βωb
) − ω2

β2ωaωb

(1 − iαω
βωb

)2 − ω2

β2ω2
b

=
aeff

0 − iαω
βωb

(aeff
0 + ωb

ωa
) − (1 + α2) ω2

β2ωaωb

(1 − iαω
βωb

)2 − ω2

β2ω2
b
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μg,eff =
μ+

eff − μ−
eff

2
=

(aeff
0 − iαω

βωa
) ω

βωb
− (1 − iαω

βωa
) ω

βωb

(1 − iαω
βωb

)2 − ω2

β2ω2
b

=
(aeff

0 − ωb

ωa
) ω

βωb

(1 − iαω
βωb

)2 − ω2

β2ω2
b
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μeff =

⎛
⎝ μeff −iμg,eff 0

iμg,eff μeff 0
0 0 μz,eff

⎞
⎠ ;$�)7<

����� μeff �� μg,eff ��� ����� �!���/ �� 

μz,eff = μ2 +
3f1μ2(1 − μ2)

3μ2 + (1 − f1)(1 − μ2)
;$�)6<
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